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2.
General Instructions:
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 68 / ESS /1-B on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any one of

the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,

Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any

errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.

HH C‘HﬂaSI

1. weneff - % qeed IS W ST S shHich Fowd ford |

2. FUA YT I WG o -0 F Fed TS AN T ht S & WA § T T IS % o W B9 ¥ 139
o S f A o T iR w9

3. SW-YRae H deam-Tag g steren fAfde vl o sifafiad sel «ff STishmish fora T wiiefel shi ST Sat ST |

4. A IW-YRAHR R -9 Fl hie Hen 68/ ESS/1-B fad |

5. (%) T-UF had K/ A0 H 71 R oft, afe o = e < g foReh ueh oo ST wehd €

JuTeH, HYHRT, Hehd IR faedt |
FU SW-YReht § fou Tu st H ford o o1 form s # S foa @ 2
(@) afg v & wg 2fusht & tfafaa foet o= aron o S forgd € @ 99 &1 99sH o €4 arell
Ffedi /et i SR e et B |
6. UHATA T foRdl ot YR % Hag 1an giaw i feafa H TSt T{ae & 7 ghm |

ORe0)|

68/ESS/1-328-B | 1 i | Contd..



IMPORTANT INSTRUCTIONS

1.  This Question Paper Booklet contains two Question Papers - one based on revised study material
marked as NEW SYLLABUS and the other based on pre-revised study material marked as
OLD SYLLABUS.

2. NEW SYLLABUS is for those candidates who have registered for 2023-2024 (Stream-I, Block-I)

admission and are appearing in October-2024 Examinations.

3. OLD SYLLABUS is for those candidates who has registered before 2023-24 (Stream-I, Block-I)

admission.
4. Candidates are to answer only one Question Paper from the given two Question Papers.
5. Candidates are not allowed to mix questions from the given two Question Papers.

HEqut e

1. 39 99-0F R | < YU € - U G 1eme gt R enenfid § o W e ureeRn ' s
T T THU GEEE ¥ g ST Al W eneiia § e W e ureasnn sifeRd 7

2. T UTSAShU 37 WM o fau ¥ et AR 2023-2024 (-1, s6feh-1) T g3 € T S 3TaRIeR
2024 e H S W@ ¥ |

3. U UTeTehH 37 TGOSl & faw § foeeRt e 2023-24 (FH-1, sfeh-1) e 8l gel g |
4. wameff fou MU ) we-wE H 9 e T UeE-UH 9 g W fad |

5. odened S S YeE-UE o Ul 1 AR SR S i oAl R )

[z
68/ESS/1-328-B | 2 i | Contd..



NEW SYLLABUS /9T UtIshH

PSYCHOLOGY
(328)
Time : 3 Hours | [ Maximum Marks : 100
| : 3 9Ue ] [ gutiek : 100
Note :
(i)  This question paper consists of 45 questions in all.
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All questions are compulsory.
Marks are given against each question.

iv) Section - A consists of
(@) Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.
(b) Q.No. 21 to 29 - Objective type questions. Q.No. 21 to 23 carrying 2 marks each (with 2 sub-
parts of 1 mark each) and Q.No. 24-29 carries 4 marks (with 4 sub-parts of 1 mark each).
(v)  Section - B consists of
(@) Q.No. 30 to 35 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 36 to 41 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 42 to 45 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
‘F-I%E'ST :
() T9YH-TF H FoA 45 T T
(i) A we e ¥ |
(i) TR T T 3k I YA & WA few e )
(iv) ®@Ug - o gfmfed € :
(a) U W1 W 20 T Tgfahedrd Y § | Yo YA 1 31k & BT | 90 9 Joush T4 H U U =R
foeredl § a8 Iuga faswey &1 == # iR fad |
(b) U W@ 21 ¥ 29 Th TS U T | T HEA 21 § 23 T TAH o folC 2 3 & | (Y3 1 37k
% 2 394 |fed) SN 797 WeN 24-29 9o 4 3% &% €1 (A 1 3 F 4 3UHM Hied 1)
(v) @UE-@ H |ifed ©
(a) TS HEAT 30 H 35 Teh, 2 3o AT 3Afery ST ¥, Tk U9 Rl SR 30 W 50 &l H = S
2l
(b) WY G 36 Y 41 T 3 ikl AT oY ITIF U1 & IR 50 W 80 VIsa) ki WA H < F |
() WY G 42§ 45 TH 5 3ol ool < ITIT U1 o IR 80 W 120 VIsa) ki wiAT H T ¥ |
[E A
68/ESS/1-328-B | 3 % [ Contd...

=



Note / gt .

(1) Answers of all questions are to be given in the Answer-Book given to you.
[T T o IR 3Tk & T STR-YReqen § § e |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 U9-T3 Sl Tgd o fare 15 faee 1w fen 7o ©1 99993 ot forawon Sraex # 02:15 9 fopan
ST e 02:15 I 9 02:30 I q% B kA YE-TF HI T R TH A & IRE A
SRR W FE W &l fea@i |

SECTION - A/@US - <h
1.  Which of the following is NOT a subfield of Psychology ?

(A) Clinical Psychology (B) Astrophysics
(C) Developmental Psychology (D) Cognitive Psychology
frfefiaa # @ =i @1 wAferRT i 3uas 7@ € ?
(A) IR Ao (B) &l wifaeht
(C) foerrETcHe HAIfRM (D) EAMIcH HATfeRIH
2. Tanima tries to explain the factors leading to stress and predicts the effects of the stress.

What is the key difference between the prediction and explanation in research ?

(A) Prediction focuses on the future, while explanation focuses on the past.

(B) Prediction establishes causation, while explanation describes relationships.

(C) Prediction anticipates outcomes, while explanation clarifies why outcomes occur.

(D) Prediction is qualitative, while explanation is quantitative.

TN T Y TR & S STl e Rl Foerol T U SR TH1E W qReH H g1 ATHEE H
AT 9 YATAH § 91 & AW 2

(A) e wfosr W Hfd § Safe SAren e W Hfwd 2|

(B) TEhY HIUIT Gae TAUd hidl & STelfch ST ST Hadli ! faedR ¥ FHeAm ¢ |

(C) TS RO Y 3TN AT § STaifeh ST YR i ST €, 1 TR0 Tl € |
(D)

D) e T § STafch e A ¢ |

3. A psychologist conducted a survey to examine the frequency of different types of phobias in
a community. What type of graph would be most useful to represent the percentage
distribution of various phobia types ?

(A) Bar chart (B) Scatter plot (C) Line graph (D) Pie chart
Teh BT - gt B fafi= genr & gufffa =t emgfa & wdemn & fau od d=nfed fean fafu=
YR & gHifa 1 gfaer faawo yefifa & & fou fhe TR 1 7% a8 S9artt T/ ?
(A) R @ (B) TheX wile (C) @ INE (D) UE =
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4.  Which mnemonic technique involves creating a scenario, or objects arranged in a physical
space in the form of visual images to remember a list of items ?

(A) Method of Loci (B) Acronym

(C) Keyword technique (D) Pegword method

g A gt e denie & oo frat afige o1 gor R steren agsii ol ¥ifds T ™ 38 TR
afeerd foran S € fo STt 3w sfa @ & axgall ot g #1 a1 fFHa S g g

(A) A fafy (B) favit
(C) ¥&A =g fafy (D) e fafy
5.  This theory of emotion maintains that emotions are comprised of two factors :

Physiological and cognitive.

(A) The James - Lange Theory (B) The Cannon - Bard Theory
(C) The Physiological Theory (D) The Schachter - Singer Theory
T 1 =1E Fgia A & fof Her St e | o B € ¢ iR SR S |
(A) ST - @ T (B) & - a1 faga
(C) IR g (D) il - TR fagr
6. In the context of problem-solving, what does the term “functional fixedness” refer to ?

(A) The tendency to rely on past experiences
(B) The inability to see an object’s potential uses beyond its typical function
(C) The tendency to use trial and error

(D) The preference for creative solutions

U GHEE % e § s ferar’ | ared €2
(A) gd AF9el R fovard =t g9
B) Tl g o Gwiford ST &l 39 fafire Rl | 31 <@ 9 &t srmefal

(
(C) Tl&T9 TS FJfe T TR LA & qgha
(D) GSIcHe: Gl <l T THehd
7.  This refers to declarative memory which requires conscious efforts in recalling the previous
experiences and information.
(A) Implicit memory (B)  Explicit memory
(C) Procedural memory (D) Long term memory

Y =T W % w9 H defa foman s ® former fore fuser smaal iR gemstl o6 A & &
foTU T=d YTl Rt STEvIeRdr Bl ¢ |

(A) ffed =3fa (B) ¥ Hfd

(C) i qor S (D)  drelehrefi wf
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10.

11.

12.

68/ESS/1-328-B | 6 i | Contd..

Children incorporate new information into their existing schemes. This is called
of information.

(A) Assimilation (B) Accommodation

(€) Organization (D) Equilibration

el s ST HiS[eT Aresti § ¢ SFehRT IfHe Hd § o SH SRR 61 HE @S |
(A)  SATHHTRTT (B) EHEISH

(©) dme (D) wge

Around four months of age infants copy or reproduce someone’s act or language. This is
called

(A) Organization (B) Imitation (C) Equilibration (D) Accommodation

T 4 TR 13U o T foRelt & hred A1 7o 1 GHecHEd A ¢ o 3 el S
(A) Hmed (B) IR (C) dde (D) EHESH

Neeraj can categorize fruits and vegetables of different types in multiple ways such as those
based on their colour, taste, size and so forth. This cognitive attainment of the concrete
operational thought is known as

(A) Conservation (B) Classification (C) Seriation (D) Centration

it fafi= gohR & wall IR Gfssrdl i 3% T, W@IE, SATHR fE F AR W H3 aldehl § Ffiend
F TR § | A sk foarl ot T T Suafed FHEAM © |
(A) E&o (B) arfteRtul (C) HHIRA (D) H=IRTT

Angad thinks more like a scientist. He thinks of all possible solutions of a problem and
systematically tests those solutions. This refers to as

(A) Idealistic thinking (B) Adolescent egocentrism

(C) Propositional thought (D) Hypothetical deductive reasoning

ST SHTRIAL T Sk ohi a8 Wradl ¢ | 98 el wwen o wft Sifaa st < oo & drean
¢ 3R o orafeerd &9 § 37 THIE F1 T HA | TR % &9 H Hefd g g
(A)  AeEfErE | (B) ToheiR 3T&chfgen

(C) w&Te fo=X (D) uRehIeafeh fRTeHHs

What does the term “groupthink” refer to in the context of social psychology ?

(A) The tendency for group members to conform to a decision without critical evaluation
(B) The process of brainstorming within a group to generate innovative ideas

(C) The tendency for group members to challenge each other’s opinions

(D) The process of reaching consensus through healthy debate

g T % Hey ¥ gy T’ wsg | 7 arewd €2

(A) THE % TS § MelrAIcHS: Hodichd o fo1 & wa=di i o W gedfa
(B) e H Ffguiierar i wfshan gru e fa=R ter e

(C) TR % I 51 Tk TR o for=mi &l AR <7 =t ygfa

(D) Ty ae-foare gr weHfa s Tgan i fshan
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13. After a workshop on ethical decision-making, a group of professionals found their perspectives 1
on moral dilemmas becoming more extreme. Which psychological process is evident in this

scenario ?
(A) Social loafing (B) Group polarization
(C) Groupthink (D) Deindividuation

Afcer Folam’ Fi T wRETEn § 9 oF % 91E ekl % T e 3 e fh A afiden # Afaw
gfaen 3mSR IR B E ¥ 39 URewd H i | Ao Uik uiate @ w2

(A) TS TR (B) HYE gt
(C) ue fH@ (D) frduadeto (fegeifasuem)

14. Which theory suggests that individuals in a group tend to exert less effort when working 1
collectively compared to when working individually ?

(A) Social facilitation theory (B) Social loafing
(C) Group polarization (D) Deindividuation

HH 1 fagr g% gema <t € fo safaa T argfess & § sTohal s 3 i o B hH TATE TR
g2

(A) gt Hied 1 fagr (B) GTHITSI TR
(C) THE Yt (D) Freaferran (Fegeiferusm)
15. Neelam becomes angry when she sees people throwing garbage on streets. Identify this 1

component of the attitude system.

(A) Cognitive (B) Affective (C) Behavioural (D) Extremeness
et e <At bt e § Fer thehd I@T § O SY TEET 3T A1 § 1 g O % 39 ueH hl
TR |

(A) HFAHR (B)  HIeIcH (C) AR (D)  fraia emcofaend

16. Bani observes that her mother feels happy when she finishes food. She is forming an attitude 1

through

(A) Classical Conditioning (B) Operant Conditioning

(C©) Modelling (D) Social Comparison

AT 28 TEd ¢ oh STeRt Wl qd T Bt © 5T 9 ST IS WA Sl © 1 T8 &
e | sifugfa fmior w2 W@ R

(A) HHEMA ST (B)  Tohall wgd STgeier

(C) wisfer (D) WM ol
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17. A period of loss of interest or pleasure in most activities, together with other symptoms which 1
may include a change in body weight, constant sleep problems, tiredness, inability to think
clearly etc. may indicate presence of

(A) Bipolar disorder (B) Major depressive disorder

(C) Mood disorder (D) Anxiety disorder
Ut srafy o stferemier nfafafirel & wfe =1 o1 1 B1f & Wy-wy 3= el S IR & a5
T Sedrd, AR g ol THE, 9, T &9 9 9eq § 1gqedar anfe ® B A
ekl hd |
(A) feydt foshm (B) WG 3feEIE faehR
(C) wArem forhr (D) feiar far

18. Disturbance in neurotransmitters in the brain is found to play an important role in the 1
development of certain mental disorders. This refersto _ as the cause of some
psychological disorders.
(A) Heredity (B) Biochemical factors
(C) Brain Damage (D) Psychological factors

Hiesh H <R # Teas! Fw qHiasw fari % famm  Hewygut i furd &1 gue dey
Y3 ¥ N9 3 qmfas foeii s SR A S € )
(A) AT (B) S TR HRE
(C) wfers afa (D) ARSI Fh

19. Radhika was facing stress due to strained interpersonal relationships at home. This can be 1
attributed to

(A) Biological factors (B) Physiological changes

(C) Psychological factors (D) Political factors
YRt BRI YUl IREIeh HeiEll & hRO 1 HegH R @I ot | gHR RO El
Hehell |
(A) Sifasw &Re (B) IMRer afRercd
(C) TS FNh (D) TSHfaH HRE
20. Sarabdeep experiences different mood episodes that occur during different time periods. 1

Both mania and depression are alternately present, and are sometimes interrupted by periods
of normal mood. Identify the disorder.

A) Mania B) Panic attack
(A) (B)
(C) Phobia (D) Bipolar mood disorders

TG STET- 3T Uy H g e & TGN YehRUl STYe Hidl &1 IS iR 31adre SFi U
% I Toh 3T @d § 3 Hfi-heft Tremor gIeen off 39eh o9 | A 81 39 faar it wg=m
I |

(A) SR (B) Uf® 3+

Q) & (D) feyet wHgen fahr

[z
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21.

22.

23.
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State whether the following statements are true or false.

(a) Psychology is only concerned with the diagnosis and treatment of mental illnesses.

(b) Educational psychology involves studying learning and development in various
educational contexts, including formal and informal settings. It explores factors affecting
learning across the lifespan.

Fared F Frefafad wed Je § o1 o

(a) AT 1 Ga¥ shaed FARM o M o IT9R ¥ Haifyd B |

(b) Hferr TeIfoT H Siuenfie 9 sHTenie ufifeafa o fafy=r foan gl & wen, diemm @
foene Gftnfad 1 =8 Stewd= dies 1 geifad T arcl Seshi i e g |

Recognise the ‘concept’ characterised in the following statements :
(a) Adolescents might think what ideal standards are and they might compare themselves
and others against those standards.

(b)  Formal operational thinkers can solve problems merely through verbal presentation of
the problems.

Frefafea smerRl # uftefad Haeri’ 1 wear S|

(a) ¥R W= Terd B fof oTeel A R € 3IR 3 37 0l § GE &t 3R T ot gl e Hehd
gl

(b) o= Hishares foeme arensti @ Hifas Tgfa & Arem | gaensti Sl g H Wehd
gl

Preeti experiences repeated and unreasonable thoughts about dirt on her hands. Thus, she

washes her hands every time she touches something. Which of the following (any two) is

True of the condition that she is facing ?

(a) She is affected by obsessive-compulsive disorder

(b)  She can control her preoccupation with specific ideas or can also prevent herself from
repeatedly carrying out a particular act.

(c)  This affects her ability to carry out normal activities.

(d) She often finds these thoughts to be unpleasant an shametful.

(e) Her symptoms include recurrent dreams, flashbacks, impaired concentration, and
emotional numbing.

(f) Compulsive behaviour is the need to perform certain behaviour over and over again.

T SR-aR o7 el W o gt 9 S8 foaril o1 orya it ©1 sHfae a8 foReh off awg & e

& OIE B it 81 T | 9 A i (g ) gifefat s g o) @ e ?

(a) % AANE-eAd faer 9§ wefed ¥

(b) =% T fafere faaR & 7ot =rarsii =i f=ifa 2 Tehdt § stean fdt T %M ol 9IR-aR
H | I Y hT ek Hohell ¢ |

(C) THH TS SHh WA fohan wamdi o fded W of gea g1

(d) ST T9F Y 3T I% faaR g8 & ame 9 A @ ¥ |

(e) HHh WU H IR-IR AW YA, AT 91, THIUAN 1 AE R WEHAHE AT
aftafad g1

() el SRR I IR-IR FIH HI SNALIHAN AEAHR FTER FHgald ¢ |
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24. Identify whether following statements are true/false in relation to memory process. 1x4=4

(a) Procedural memory is a type of non-declarative memory that involves the recall of
skills and habits, rather than facts and information.

(b) Memory is a single, unified process.

(c) Chunking is a strategy where information is grouped into meaningful units, making it
easier to remember and recall.

(d) Elaborative rehearsal, which involves making meaningful connections to information,
is generally more effective for long-term memory than simple repetition (maintenance
rehearsal).

fa gfshan & 9N H 71 FoAl S I/ 37 8 Hi TedH ST |

(a) Sfshan goteh gfa, TR soomerss Tgfa 1 TEn YRR © o 9o wd 9l st o7der qar iR
ST ol ARG LA FHATAd |

(b) T T ThiHd UfhaT T |

(c) T fafy weh WE Wi ® fraes eima S w1 srefqol sl # U@ wier st & &
3% ARG Y YA: I LAl STHH & S|

(d) gfowga qatem o gemmet § stefqut dey wenfud fran s g1 e (FeEme gaiems)
! ol | WIYROE: Sl i % fae stfus gumeeed g §)

25. Rakesh and Manoj's ego devises strategies to divert energy to safe activities to protect itself
from the demands of the id. Thus using the defense mechanism to reduce anxiety. State the
defence mechanism used by them in each statement. 1x4=4

(a) Manoj is diverting attention from the anxiety-causing urges to acceptable activities.
(b) Rakesh is forcefully suppressing the anxiety causing memories or events.

(c) Rakesh is refusing to accept the existence of anxiety-producing events.
(

d) Manoj has unacceptable impulses, which are denied entry into consciousness and are
projected (displaced) onto others.

TR TR TS T 3TeH 38 i HIT | =™ & fore et ol grfara nfafaferdi § sgem st ot Tar
FA T TH e 98 AT Tawl 9 T & ToIu 1@rds o gAN R W@ B 1 TS FUH § 6 g
T &GS 1 M S |

a) AN a1 U1 L el sou1sll ¥ £ gl S Wi Tifafafe=l sl SR Hig ol ¢ |
b) TR o 3cq=1 FA et Tl a1 seiet Sl derges < X ¥
c)  Toh¥ T I A ATl TR &k TH hl B TSR @I ¢ |

d) WA H SR ST B 38 3% =ael ° Yo 9 Sfud i fean © oIk 3% gud oiR wafta o
fen

(
(
(
(
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26. Match the following : 1x4=4

(a) Schemas (i) The application of techniques that worked in similar situations
in the past
(b) Heuristics (i) Cognitive frameworks that represent our knowledge and

assumptions about the world
(c) Trial and Error |(iii) The simplest problem solving approach.
(d) Analogy (iv) General rule of thumb, which are based on prior experiences

and are mental shortcuts, which may or may not lead to the

desired solution

=1 w1 e =it

(@) IreETE () et Terfient o1 ST ST oFdfia © wEE Rfa o wm aE A

b) gffemar  |{) dxErs TR S FER F TR § R I AR gronett w1 gl
AN EaGiRd

©) wewym | o g R T e
(d) st (V) g Fem it gd ergeEl W emenia B9 ¥ o uERe widke 3 W
T Fifesd THIEM Toh of 511 o Tkl & A1 7 |

27. Identify whether the statements below are true or false about giftedness : 1x4=4

(@) To reach their full potential, gifted children do not require different educational and
life enrichment programmes beyond those provided to normal children in regular
classrooms.

(b) It has been suggested by psychologists that giftedness from the teachers’ point of view
depends on a combination of high ability, high creativity, and high commitment.

(c) Gifted children show no signs of intellectual superiority.

(d) During infancy and early childhood, gifted children show a larger attention span, good
recognition memory, preference for novelty, sensitivity to environmental changes, and
early appearance of language skills.

frafafed § § &R 9 %A ‘sfge gfaa’ & d@eod  we/sma 22

(a) 31O T &7 Ak g o fer fqumenedt sra ot frafad wanstl § = I w1 < - @
e o Sftam Helum wriwAl ¥ 31 9 o 761 =g

(b) TR gRT 9% Gea e e  for frerni o gfeshion & gfawn == draar, 3= TRl
3R 3= wfdergar & Hae R R &t 71

(c) afaumemell s=ai | siifgeh I=adl & IS AL TSR &l 3 |

(d) AT SR YR SeHTerkel o QM FIAHTEH oe S STaem foear T=st ggarH Iy
wfq, Feiar & o wafisndl, Fafervia ofied=i & gfa Gageiicral, W Hiee &t &
Sufeerfd ¥ werT Yefid sid ¥ |

[z
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28. Match the following : 1x4=4

(a) Secondary groups (i)  Loosely structured with no rigid rules or defined roles and
it is built on casual and friendly relations.

(b) Formal groups (i) The groups in which we belong.

(c) Informal groups (iii) The members have clearly defined roles; communication

flows through a channel and a professional relationship
exist within the members.

(d) In-groups (iv) Where the relationships are less personal, intimate and
indirected in nature.

fr=fafad 1 e i :

(a) Tgdftow T () Tafae 9 9 dEAAs 578 *1E wSr frem = aftafia
ftreht T et & 31 718 atreh e iR Asigul wefeli R emenfia
BT

(b) 3=l TE (i) e ey 79 Hafud TS B & |

() ST e (iii) T H YR T T F IRIRE Bt §; TR TH 99A F
e W Yafed eIl § 3R TSE & S Teh SS9 ol
IS G

(d) T 9 (iv) Tl fed w0 safaaTa, Sfadn iR sTueael Wahfd & & 21
29. Fill in the blanks by choosing the correct option. 1x4=4
(a) People suffering from become euphoric or experience ‘high’, can be extremely
active, excessively talkative, and are easily distractible. (Mania/Phobia)
(b) are characterized by disturbances in prolonged emotional state. (Phobias/
Mood disorders)
() The most common mood disorder is . (anxiety/depression)

(d) Gender plays a great role in this differential risk addition with respect to depression.
are more likely to report a depressive disorder. (Men/Women)

e fashed =1 ga R Rea Tl &0t gid Hifee

(a) Y difed o STt SR & 9 € 91 ' I’ oya Hd § SR STty 9k,
TNty ST iR a9 faafera & S €1 (Sme/gHifa)

(b) o T ek HaTees fefa § Teael % w # yReterd et © |
(guiffa/#Hresm faepr)

(c) I8 99 Y G TN faeR § | (fed/ sra@m)

d) fon favee Sifaw sEwR gfe § o€t ftem fwm 2 T 3T U B i GHE

31fyyes Bt © 1 (qei/Afgast)

[z
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30.

31.

32.

33.

34.

35.

68/ESS/1-328-B | 13 i | Contd..

SECTION - B/@Us - @

What is applied research ?
OR
Describe any two goals of research in Psychology.

"I STIH 72
arera
AT § 3 o fohwal & <1ei 1 90 Shiferg |

What is an illusion ?

‘ga' g ?

(a) What is Adolescent egocentrism ?
OR

(b) What is idealistic thinking ?

(a) ‘ToReiR sTEehfaaar’ N 8?2
AT

(b) ‘eETEE 9= T ?

Ramit had mastered the ability to pick up the tiniest objects between his thumb and forefingers
by early childhood. Explain the fine motor abilities that he is likely to achieve by age 4 and 5.

IHT 7 3197 AeThial § 2 B W Blel a&q 1 791 STl o 373 st Ferd ¥ 38H § fgorar g
F oA oft | THREY o 4 91 5 9 Y 211 ek oE SR hi-hi E Yaw HIeX &y ferehfd s o 2

Raman has a high IQ. Is he likely to be high in creative tasks ? Give reason for your answer.
T i Jfgafsy 3=9 T | 1 I8 Ha ¢ T 9 Tt ol # oft S=9 21?7 3T IRk qal H R
SISy

(a) Giridharan was feeling better after attending the therapeutic session. Explain the next
step initiated by his therapist.
OR
(b) Suggest any two strategic to maintain health and well-being.

o~

(a) Tes we fafecfa 991 § 9F o1 & 918 3181 Heqd X Wl o911 39+ fafwds g1 33m
S ATl ST HeH hl GHEE |

r9rET
(b) TTEA TH HEAV I 51N =g fh=l o1 T T O hifeTT |

ORe0)|



36. A psychology professor is analyzing the test scores of a class of students. He collected the 3
scores and wants to provide a summary of the scores. Discuss the advantages and limitations
of using the mean and mode as measures of central tendency in summarizing the test scores.

Teh AR o1 GIhE 3791 el o BT o el H Y 3ehi ohl faveoor s W | S 9t 3Tl
! TehfAd o T €1 279 98 39 3{ohl o1 9R USH el =Med & | I8N § W 2fehl ol UR &9 §
THd L & TAT hEa ggid o A7, HILA TS agaish o ol d Sl Sl == il |

37. (a) When Nazim held a finger in front of his nose and slowly brought it closer, his eyes 3
turned inward as his finger was nearer. Explain this phenomenon.

OR

(b) Meghanshi is an Air traffic controller. She has to constantly watch and monitor signals
on screens. Explain this type of attention.

(a) & IS 7 ST SR ATk o FWHA A T AT o THY i O IHeh! ST IGhT ST hi
GUIIdT F G IHHT TG 3T HT AR THAN TE | TH AT Y AT Y|

YT

(b)  TEIE T Y A 56 §1 I8 AR Bhid R Gehdl Sl S@AT 9 HiAlel HET T g |
STGYM % 9 YN hi AT HIfST |

38. (a) State the features of any one type of Reasoning. 3
OR

(b) J.P. Guilford was a pioneer in the field of creative thinking. Explain any one type of
creative thinking that he proposed.

(a) ‘TR’ fRdl Tk GHR *I foRimaned 1 Seor@ hifT |
areram

(b) S freTRE A a7 & &5 % sU-gd 91 3% g ufauifed fRel T gRR &
oA THae ohi ST hifsTa |

39. (a) A structure of the group is formed in the process of group formation. Explain any two 3
of its features and key components.

OR
(b) Explain the phenomenon of Social Facilitation.
(a) wE fmfo &t ufshen & TE U G ol &1 SHeh! o foRioaied 3R 9@ weshi o faexm
HiELy

SDE])

(b) ‘ISR Hiekd' Wl weAT 1 faaxor S

[z
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40.

41.

42.

43.

44.

45.

(a) Shanta discriminated on the basis of caste system and was prejudiced against those 3
belonging to a lower caste. What are the strategies for reducing the stereotypes and
prejudices that Shanta holds ?

OR

(b) Group A and Group B were working together for a long time. For some time, they are
rival to each other. Suggest any three strategy to reduce inter group conflict between
two groups.

(a) TN SRA 91 o STMYR W ASHTe el off iR f7 sifa < @t o fore 39 79 § qaie 9|
T ot Ffedl 3TR JaREl 1 w° X & fau wF o oo 2 2
YT
(b) TR'T F'F’ Tl T T Th WY HH F W@ A | AR FS T G AT Th GHL ok e
AT R 3 A TR ok T FATIYE 53 ! HH HIA D gl o4 Tl hl Gera ST |

What is PTSD ? Explain its symptoms. 3
WA TEE. FNE? THES ARV I AR HIY |

(a) What are Self-Report measures ? Give examples and limitations of the same. 5
OR
(b)  Explain Abraham Maslow’s theory of personality.

(a) 3TTcH Yfaaed ot O19 ®F § € 2 ST S SiR Skt S sy |
AT
(b) 3TeTeH ARl g fou T s & fagr< i =@men &It

Explain the development of Psychology in India. 5
ORd H A & ot 1 9o shifr |
(a) Ruby listens to a song and wants to memorise it for the school competition. Explain the 5
three stages of memory processes that will take place.
OR

(b) Mukul is helping his student remember the answers for the examination. Explain the
techniques he can suggest to his student to enhance his memory ?

(a) TSl U T AT § 3R foamera 6t wfaaifmar & forw 8 9 &3 9edt ©1 Wi ufwan &
Hfed B aTel 1 =Ron o foeror g |
SPe))
(b) TFH I B H T % T TS IW AC A H TR B W © | 3T qohri[ohl 1 qUH
Hife fSTent gema o fa 9gM & T 109 SE &l < Tehd1 B |

What are the Issues and Concerns during Early childhood ? 5
YRS ST % SRH A 9 4 o fomard 2t € 2

-000-

ORe0)|
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OLD SYLLABUS/TQUHAT AI&IhH

PSYCHOLOGY

e

(328)

Time : 3 Hours | [ Maximum Marks : 100
| : 3 9Ue ] [ gutik : 100
Note :

This question paper consists of 46 questions in all.

All questions are compulsory.

Marks are given against each question.

Section-A consists of :

(@)

(b)

Q.No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.

Q.No. 18 to 25 - Objective type questions. Q.No. 18 to 20 carry 02 marks each (with 2 sub-
parts of 1 mark each) and Q.No. 21-25 carries 4 marks (with 4 sub-parts of 1 mark each).

Section-B consists of :

Q.No. 26 to 31 - Very Short questions carrying 02 marks each to be answered in the range of
30 to 50 words.

Q.No. 32 to 36 - Short Answer type questions carrying 03 marks each to be answered in the
range of 50 to 80 words.

Q.No. 37 to 39 - Long Answer type questions carrying 05 marks each to be answered in the
range of 80 to 120 words.

Attempt any one of the two optional modules given :

(a)

Q.No. 40 - 46 - Here Q.No. 40-42 are Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of the four options given in
each of these questions.

Q.No. 43 - 44 are Objective type questions carrying 02 marks each (with 2 sub-parts of
1 mark each).

Q.No. 45 consists of Very Short questions carrying 03 marks each to be answered in the
range of 30 to 50 words.

Q.No. 46 consists of Long Answer type question carrying 05 marks to be answered in the
range of 80 to 120 words.

ORe0)|
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(i) T9 U UH H FA 46 TH T
(i) ot T AfEE )
(i) T I F WA 3k few T
(iv) Ee-o ¥ wWHa ¢ :

(a) WH.1¥17 T 1 3% & dgfaskicad 79 &1 370 =R foshey feu o 8, sof & gaifys Sugw
forshed =1 =F Y fefET |

(b) WH.18 |25 - T o TS T ¢ | T.H. 18-20, 2 37ehi o & (1 31 o T SR Wfeq) IR (1 3iF
% A ITYFT Afed ) W, 21-25 T o Y 4 37 © |

(v) We-| ¥ e g
(a) WH. 269 31T 02 3k ATl Al oy ¥eA &1 S I 30-50 dh veal | o €
(b) WH. 329 36 TH 03 3k TcT oY ITIT YA & | SR I 50-80 7k Ireal H < T
(c) 9. 37 939 T 05 3 Al el 3T U ¢ 1 Tk I 80-120 wIsdi H < ¥ |
(vi) B Jenfeuch ATSTel U O TRl Teh T WaTd i | WH. 40 - 46 T |
(a) WH.40-427TF| 1 i & sgfashed! 99 & | 997 & fow =R foshew feu wu € 399 9 3faa s
TR T |
(b) WH. 43 - 44 TH 02 3% & (1-1 31F & I U9 Afed, agF= T ) |
(c) WH. 45,03 31 1 T IIF U T1 TSk W 30 - 50 AR H A1 £ |
(d) WH. 46, 05 3k 1 ¥ TG T &1 ST 3T 80 - 120 I3} H T R |

Note / gt .
(I) Answers of all questions are to be given in the Answer-Book given to you.
[t JeAl o IW ATl I T IW-gRaen § & foare |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

TG YI-UF i TeA & fau 15 fee o1 9o foon o §1 wsA-u ot foaeer Sruer # 02:15 99 fohan
ST e 02:15 I 9 02:30 I q% B kA YE-TF HI T R TH A & IRE A
SRR W FE W &l fea@i |

ORe0)|
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SECTION - A/@Us - <h

1.  While walking alone in the right, I suddenly hear footsteps approaching. My heart beat 1
increases, breathing becomes short and rapid, pupils dilate etc. This is due to the activation
of :

(A) Hypothalamus (B) Sympathetic nervous system

(C) Parasympathetic nervous system (D) Somatic nervous system

A T 3Tehet e THY 3T qot fohdl o TS HeHl ol oT8e Gk odl & | R e & g 5 St
®, T DT IR A 2 Wl §, qaferal thet Sl €, TS | 718 SHeh! fshardl o hRoT 21T § :

(A) BEANIAHE (B) rHeR! Ty A
(C) 3Hp-TTHAS =Y (D) hifaen dfrmt o
2. Non-visual cues that help in the perception of space, are called so because : 1

(A) They emanate from the retinal image

(B) They produce double images
(

C

(D)) They fall on the disparate areas of the retina

TR-39 Gohd Sl T () T UROT H HSE I §, 3¢ UHT hal Sl § Hifeh :
A) 9 e sfa | ke §

B) d et Bfa fafda #wd §

C) o YT Bfa ¥ a1 & B ©

D) & ¥ i o R §

They do not emanate from the retinal image

(
(
(
(

3.  When does anxiety decrease the performance and health of an individual ? 1
(A) When anxiety does not exist.
(B) When anxiety is at a high level
(C) When anxiety is at an optimum level

(D) When anxiety is low

a1 e AT o FTOI1GT T Taeed 1 FHH L Sl © 2
A) e e foemm =@ S|

el el ST9 SeaaH TR W A T

C) el fodr 3T geay TR W A T |

D) < fed %8 St 7

B

~—"

(
(
(
(

[z
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4.  The cause of an individual’'s abnormal behaviour is due to chromosomal dysfunction. Here
the factor is :

(A) Psychological (B) Social
(C) Biological (D) Emotional

foret =afe & ST SRR 1 RO [URE i Tfsha (ST femher) adt ¥ 1 78l R

g

(A) TSR (B) IS

) Sifaw (D) AT (HATeH )
5.  Which one of the following is not a part of emotional competence ?

(A) Emotional maturity (B) Emotional intelligence

(C) Emotion management (D) Emotional theories

frfafad & § S TacT &ma 1 feed Tal § 2

(A)  STEATHS TR (B)  waTcH FfgHT

(C) wa T Yaie (D) wrecAs fagid

6. If you look at an eagle while it is targeting its prey, there is complete physiological and
mental preparedness to catch its prey. This shows :

(A) Alerting function (B) Functional fixedness
(C) Perceptual alertness (D) Vigilance alertness

Jfe 31 ford) 19 &1 39 99T @A © o9 98 A9 AR Rl fA9Imn o1 @1 S ®, @ 98 19 R
I Tk & forw g sRifRes IR Amfas GO ® S €1 a8 Sl ©

(A) <dreHt 37 aTel wHE (B) YehricHeh feerd

(C) STIYNUCHE Helehdl (D) Hdeh g Hachdl

7. A student who is fluent in the Hindi language finds learning of Sanskrit easy. This is due

to:
(A) Negative transfer (B) Zero transfer
(C) Positive transfer (D) Neutral transfer

T BT N S 9o & Uit ¥ 1 39 HEhd HiEe1 ST oIl § | SHeh! alg | ¢

(A) TTRRIHE I (B) I T

(C) HhRIHh T (D) T TN

[z
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8.  Lack or deficit of something which disrupts homeostasis or balance in the individual is called : 1

(A) Motive (B) Secondary Need
(C) Primary Need (D) Instinct
fereft =it st et =1 st ST TRl safem o wmfeefa = S i guife S €, e §
(A) T (B)  TIUT STETFRAT
(C) WIATHS ATIIIh] (D) Tk ggfd
9. A person whose personality is characterised by truth, detachment, cleanliness and sense of 1

control is said to have :
(A) Sattva guna (B) Rajas guna (C) Tamas guna (D) Dhyan guna
Teh it TSieer sAfercd § Ted, S, To=adl 3R fE3101 &1 9o Bl §, S9 el Sl ©

(A) =T (B) W © T (D) = a

10. In facial expressions there are three dimensions of emotional expression. Which one of the 1
following is not a dimension of this ?

(A) Gestures and Postures (B) Pleasantness-Unpleasantness

(C) Attention-Rejection (D) Sleep-Tension

TR (@) o et B aamrees sifyveafad & @9 o 8 €1 e-ar fefateaa § 9 sge
AT T 2

(A) TR T & (B) HFEI-3TR
(C) SAAYUM- TR (D) ~ig—are
11.  Which of the following is not the role of the soma, in the neuron : 1

(A) It sends signals to the dendrites.
(B) Controls the metabolism and maintenance of the cell.
(C) Receives impulses from other neurons.

(D) Manufactures chemicals to transmit signals.
=R # frafafed § st IR (Hmn) &t SE-w yfe T8 € 2
(A) IT SSIES ! Hohd Tl T |

B) hIf¥IehT o =TI iR TER@d i i war §

(
(C) & =R ¥ ST YT hal ¢ |
(D) Hord GG T o T W& aamdt §

[z
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12.  Which is the highest level of need, according to Maslow, when a person becomes conscious
of broader reality ?

(A) Self actualisation (B)  Self esteem

(C) Love and belongingness (D) Self transcendence

TRl & STER, 9 I3 SAfoRd SATIh Sredfaehdl o Ui T=d &1 |1 8, O Aevaehdl 1 Ioaqq T
HEA-TAE?

(A)  ecHfafg (B) ScH-HHM
(C) IHI AN (D) 3TeA-foear

13. Behaviour modification techniques are based on :

(A) Social learning approach (B) Operant conditioning
(€) Classical conditioning (D) Psychotherapy
RN G dehrteh =1 T aenfia € -

(A) WIS HiGH giteeho (B) Wfha ergper

(C) V&I STfer (D) wIfefehea

14. The technique of free association is used in :
(A) Behavioural therapy (B) Humanistic therapy
(C) Cognitive therapy (D) Psychoanalysis

ek GTead bl qehiteh o1 UM foa ST & -
(A) =aER fafha (B) HerdEa! Teferean
(C) HamTcHe fafere (D)  HAIferTeAyol

15.  Which one of the following is not a part of the medical model in the treatment of disorders ?

(A) Electroconvulsive Therapy (B) Antidepressants

(C) Antipsychotics (D) Free association

forRi % U= 7g, Frefafea § & on @ fafean drea & fevm 7@ €2
(A) fomE faferan (B) rarETEUHt

(C) AR T (D) T wre=d (ST THifeeer)

[z
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16.

17.

18.

19.

When a new teacher joins a school, students form impressions about the teacher by giving
more weightage to the :

(A) First impression (B) Subsequent impression

(C) Similarity (D) Affiliation need

9 h1g T etk fordt what ® wnfhat San §, @ o 1 9l @ eifues mew o e & e
YR §A &

(A)  TIH YR (B) T HRoT

(C) HMFd (D) HeGHT hi AT

A therapist creates a warm and conducive environment to help the client express is true
feelings. This kind of therapy is based on :

(A) Behavioural model (B) Psychoanalytical model
(€) Cognitive model (D) Humanistic model

T Tafehcas Tesh ol Tedt WEAT o w3 H Heg i & fag Teeigel 3iR STt A
I § | 39 YR hi Faforedn f79 W smenf@ € .

(A) HIER Hisd (B) HATATUNcHeh HiSd
(C) HIHHS Aled (D) HHEdEE Aied

Fill in the blanks with the correct option given below :
(social-cultural, physical)

(a) Natural environment like climate, terrain, temperature, rainfall etc. are examples of
environment.

(b) Those aspects like norms, custom, process of socialisation are examples of

environment
e few o wE fohed 9 e wom W)
(AT -Titeh e, Hifdeh)
(a) WTHidh TATERY S SEER, R, TIHM, Fuf 371fg % IR & |
(b) WRE, Tf9-Rare, TMTSTeRr ST Tfha S 98] TITER0T o ISR |

Choose the correct options from the words given below :
(Disorganised, residual, paranoid)

(@ In type of schizophrenia, the patient experiences withdrawal and lack of
motivation.

(b) The symptoms that are visible in __ __ type is verbal asymmetry and poorly
developed idea.

= fou o wIsdi # | 92 foehed o

(sreafter, sfafiree, =)

(a) HAOEAT FRR H, Mt <Y ATqEr 3R UROM Y FH HT ST B F

(b) Smfseeh faeman oIk @@ faswfaa faam % AT A T

ORe0)|
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20. Given below are the two stages of moral development. Fill in the blanks with the correct 2
options :

(stage 1, stage 2, stage 3)
(@)  Child judges action by intentions and not consequences. This happens in

(b) Child obeys rules because they are sacred and not changeable. This happens in

Afqer faema & <1 =0 9 fed o €1 9@ fashedl @ fRad wum )

(=U-1, =RO1-2, ={O1-3)
(a) == HIFATE! T HoAioh U1 o Ll & | IRomT | Th 1 T ERGI
(b)  wr=a1 FrHl o1 e Y §, it o 9fas § SR erafteda €1 T RG]

21. Fill in the blanks with the correct personality assessment method, out of the options given 4
below :

(Thematic apperception test, Rating scale, Projective technique, Personality inventories)

(a) Questionnaire where a person has to answer many questions about the way he/she
reacts are called

(b) When a person is asked to describe the self confidence level of another person in a
range starting from high to low, he/she uses a

C When indirect symbolic information is used to uncover the unconscious, then
y
psychologist uses

(d) When the ambiguous material is in the form of pictures, is being used.

= feu 77t foehedl ¥ 9 wE1 SAfadc gediend dgid 9§ e T W)
(forrfesn Tmiw 2w, T wha, USifaed d-ish, Sfaaa =)

(a) WS, STET Ueh SAfdd i 7Ot Ufafshan & aich o IR § S go-veE e e g
FHEawd |

(b) < forelt AT | T AT o STHTIRATE o TR 1 90 I=d | T FUft H KT =l gl Sl

Tl ag_ wm wEm wa e
()  Tel STH YA STHehRI ST STANT 3T hl SR A o T foman S & 7« weiasten
T SYAT AT T
(d) e e gl fosi F e H A Al 1 SN fohar < €1

[z
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22.

23.

The framework of Dharma provide a set of values which is important for sustenance of life. 4

Match the correct Indian value with explanation given below :

Explanation

Indian Value

(a) Keeping tolerance

(i) Indriya Nigraha

(b) Control over one's (i) Dam
sense organs
(c) Control over anger (iif) Driti

(d) Control over self

(iv) Akrodh

¥ 1 STl ol 1 ok TR WS HT1 8 Sl Sfie =1 o forg sl €1 i fe T e %

Y G AT g 1 e &

TqESTR T EIRGID R (2]
(@)  HERfierar ST TE O skt
(b) A w R T |(H) @
() e W formmror T (i) gfa
(d)  ofTew = Frmmor T (iv) Ry

Fill in the blanks with the correct term, out of the options given below :

(reflex action, instincts, learning,

maturation)

(a) Migratory birds know where to begin their migration and the route they need to follow.

This is due to

(b)  When you touch a hot object, you immediately remove your hand without even thinking.

This is due to

(c) However hard we try we cannot teach a toddler to stand and walk till her muscles are

strong enough to support her weight. This is due to
(d) A child can ride a bicycle without support due to

e fou TTu fomedl § 9 e T = 98 s 9§ W
(wfaqadt foran, gfa, e, afdea)
(a) FaTH farEt BT d Bl © TR S STUA WA kel W YE 1§, 3R 3% forg Ant o1 ergE

FCT B SHH! oS8 ©

(b) < 39 fret T G H YA & @ fON WE-TEG A AT BT TSI AT T TR

I T

() ﬁmmﬁsﬂmaﬂé,%ﬂwmaﬁwwwwaﬁiwﬁwmmww

A= ST a9 Sl G9eH % fau wafa Osied 9 € ST 39t 99 © .
(d) T =1 foamn WeR * I IoE ¥ HEfRd Jel T T

68/ESS/1-328-B ]
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24. Fill in the blanks with the correct answer, out of the options given below :

(Feedback, primary reinforcer, meaningfulness, secondary reinforcer)

(a)

Reeta can relate to the topic that the teacher is teaching, and hence her rate of learning
is faster. This is due to

The teacher always gives tips to enhance the students learning. This is an example of

A teacher gives a star to the child who writes neatly and underlines key words. This is
an example of

Students in many areas are given mid-day meals when they come to school. This serves
as a

= feu 7o faskeul 9, e wH | 98 S| ford -
(ufagfte, wrefher Qecrsh, Treferd, gt i)

B 39 fowa § T wehdt @, 59 fere w1 @1 8, 3R sfere Suet 91 &l X as §1 SHeht
EERE |

Torerer &8em BT Wt GEH & TIfd @ SeH & fau fowm 29§ T e R |

Teh TEATIS 3T o=d I TR 1 ¢ S Ah-For feraen § oIk qear-fagei 1 W@ifed #d g1
Ig I © |

=g 9 & § fomnfoEl @l Tpe o W I9e S WisH oo S § 1 9% T w9 |
HTE BT R

25. Fill in the blanks with the virtues that are encouraged in the Indian society, from the options
given below :

a)
b)
<)
(d)

(
(
(
(

Charity, justice, prudence, fortitude)

Hardship that one has to go through for one’s own benefits is
Using reasons for one’s benefits is

Helping and forgiving others is

Fulfilling obligations to parent and respecting their rights is

= feu e foswedi | @ 37 o1 9 Read wom o« 5 Rt g ® dienfed fan s e

(3, =3, foress, &4)

(a) A AT R AU PR M AfeA A oA T

(b) THI TN AH FfACHT Tl

€ T A ACHFATEICARHRA T

() wrar-foar % gfq SfaEl w0 wE SR Tk AR wEEH FA . F
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SECTION - B/@Us - @

26. What are the emotions that adolescents go through ? 2

feReiR foh Tori & 2reht 7ol § 2

27. With the help of examples differentiate between pro-social and anti-social behaviour. 2
OR

Give suggestions to your friend on any two ways to develop self-control.
SRR ! HRRdl § Wid-HrHIiSe SN STEHIiSe SFel & o= & e hl T H |

SPE])

39 T3t o1 erer-feierm fasrfaa & o fordl &1 sl W ggrma i |

28. What cognitive changes takes place in the adolescents when they enter Piaget’s formal 2
operation stage ?

3o TR foams & efioenfiss Seme =10 § Y9 3d § df 374 o1 HaHTeHe Ifiadd eid § 2

29. What conditions, raters of a rating scale need to take care of ? 2

I TAM o qeAisshdiet o o feerfaei/eml 61 e & 8 § 2

30. How do the elderly persons perform on the intelligence test ? 2
OR

What are the problems of adjustment faced by the individual during old age ?

St =afe g wderor § HEr YevH i § 2

SDE])

TR o IR AT I FARIISH ot Toh T 1 HEAT HTAT S0 © 2

[z
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31.

32.

33.

34.

35.

36.

68/ESS/1-328-B | 27 i | Contd..

What is the difference between obsession and compulsion ?

AT 3R Sesrdn § 97 SR § 2

Differentiate between the three types of conflicts that leads to frustration.

OR

How do emotions influence the individual ? Discuss the three basic aspects of emotions.
TR ol ST ST ATl 1 FehR o HEO o sl o S shi T |

SDE])

o7 =afad w1 Y gIfad st © 2 "l & a9 gt Teqeti W ==t o |

All therapies based on operant conditioning follow some basic steps. What are these three
steps ?

foRaTIed SThe W SRE Tt TR F9 S =R 1 Ie 3 &, I 99 =R A 9 8 2

What are parenting styles ? Explain the various styles.
OR

Our perceptual sets influence perception. What are these sets ?
et 5 et o § 2 fafu= Aol 1w
SDE])

TAR YT THE T Sl JIfod Fd €1 3 Hg b ¥ &2

How can we pay greater attention towards the environment and use the resources judiciously ?

TH TAER i SR S1fuh A Y T Wehd § IR HareH! o faaenyul SUET i A Tehd ¥ ?

With the help of examples, discuss the first three stages of human development.

U fIehTd o 9| 9 SO0 i 3STEL0N Afgd ==i & |
OpeA0



37. How can one distinguish any behaviour as away from normal ? Explain the factors. 5
OR

Discuss various types of anxiety disorders.

o~

g TRl SaeR Tl T O 3T il X Hehdl § 2 HIhI ohl T HIfST |

YT

fafy=r yerr o foian foeriid @ ==l e |

38. How can the elderly cope with the problems of old age ? Suggest any four effective coping
strategies.

OR

Discuss the internal changes that take place as one grows old.
IS AN g H GHENS FHT AHAT FY A € 2 ST IS H GEAT HA HI DS IR g9 5
Tt G |
SPE]
Y & dG o Y- B Fel S IRl 9 == i |

39. Explain the assumption on which behavioural therapy is based. With the help of examples 5
explain the three approaches based on behavioural therapy.

IH YR ] TR FHifSC 59 W Feer fafman anufia 82 =Heer fafecn w snuafia &=
gfeanul i IS A AT |

Attempt any one of the two optional modules
T dehfeush Aigge § | fordlt Tk o1 wae i
OPTIONAL MODULE - A

JehRfeaeh WETA - T
40. Which one of the following is not an organisation ? 1
(A) School (B) Hospital
(C) Bank (D) Village
Frfafed § & %A T W67 7T ¢ ?
(A) %o (B) 3T¥dTd
(C) % (D) i

[z
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41.

42.

43.

A person with an enterprising personality will be suitable for a job like :

(A)

(©)

Business executive (B) Banking

Engineer (D) Artist

SRt SAfddcd aren Aot THl Hrendl o T e 2

(A)

(©)

Eerpieapea (B) sk

AT (D) R

Identify step in yoga which helps to focus the mind on a particular object :

(A)

©)

Dhyana (B) Samadhi

Pratyahara (D) Dharna

39 W01 St YT L SN AN H A7 Bl TR g fod W Shigd e § aeg war R

& (B) wHIY

ER2IER (D) &mon

Fill in the blanks with the appropriate word :

(a)

(b)

An employee receives education and training after entering the occupation. This
is called training.

During the course of one’s career an individual shifts his vocational role, this is
called adjustment.

3fad wes 9 R wo =6t gfd =6

(a)

(b)

Teh FHHAN] 1 FIHE H Y99 HH o o1 13181 TR gfeneror ur erar 81 39 gfsteror
el ST |

3 KR & IR HE =Afeq ST aans i s5d ol 81 34 EEIRISE

e ST |
=z
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44. Fill in the blanks with the types of phobia given below : 2
(claustrophobia; social phobia; agoraphobia)
(a) is the fear of addressing public audience.

(b) is the fear of entering closed places

= fou e wifern o YR | ad wWH R
(FAT ORI, FTHTTSTR TSI, TIRTRIST)

(a) eI Fratel sl Helfed H T e |
(b) T TH H O H B R T
45. Discuss the organisational factors that lead to job satisfaction in an organisation. 3

I HISHE FReh! i ==l Y o1 Rt off T § i Gfte ot IR o 9 € |

46. With the help of examples explain some steps to manage time effectively in order to maximise =~ 5
productivity.

SATGehdl i 3TTYehad HHT &l U i o fIT F9F ol JoTel 1 9 Yafed 3 o & =00 Sl
ITeLY Hied fafau |

OPTIONAL MODULE - B

Jenfeadh AT - ot
40. Nutrition education has been introduced for teachers in a Play centre. This education is 1
essential for :
(A) Lowering the cost (B) Attract more students
(C) For the health of the staff (D) For combating malnutrition in children
T Tl g | forereni & ferg door foren g &t 7 § 1 g% foen sifer & -
(A) G A HH & fawl (B) 31fueh BT ! STeh{d i o AT
(©) = ¥ wre ¥ foru (D) =it i & Fred & forw
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41.

42.

43.

Which one of the following is not a characteristic of good play equipment in the play 1

centre ?

(A) Design characteristics (B) Constructional characteristics
(C) Educational characteristics (D) Disposable characteristics

T g H frefafad § o0 w1 3= ©et 3yt &1 s 7@ €2

(A) fesmea (wrew) forroand (B) YETHe farand

(C) iferer ferdroramd (D) Bre 2 fardrerand

Which one of the following is a characteristic of democratic discipline ?
A) Rules are explained before being enforced.
B) Children are not allowed freedom to do things on their own.

) He is directed what to do and what not to do.

(
(
(C

(D) Demands complete obedience.

frefofaa # & S gt dishaites e +t fasmar €2
(A) 7ol 1 AR HH § Te FHSE S € |

(B) SI=Hl ol TTHT TST ¥ HTH HXA i ST &l &Il 2|
(C) 8 fdfem fohan i & for 3/ e €, SR o 7 R |
(D) Ut SHTRITGT ht AT Sl 2 |

Fill in the blanks with the correct answer :

(Daily meals, avoiding noise, organising finances)

(@ ___is part of long term planning in a Play Centre.
®) __ s part of short term planning
3faa s ¥ e o ! gfd i :
(e «fIom, IR & 3=, fom-eTisT)
(@) T g H reehliers Ao 1 fee
(b) _ IcqepIerR A o fee )
68/ESS/1-328-B | 31

=
=

=

[ Contd...



44. Fill in the blanks with the correct answer : 2
(a)  The first socialising agent of the child are the

(b) __ s the extension of home and supplements the home.
T2 I 9 R v &t gfd &1

(a) o= % YW WOife ik B €

(b) R faER T R W w T T

45. How can Mahila Mandals help in the running of a Play Centre ? 3
HigeN Heel Tel e T H Y Heg F Rl § 2

46. While planning the structural details of a play centre, discuss how can one organise the 5
space for other activities ?

Teh T hg & GLEAcHe faxor ot s s T9d, 317 Tifafafedi & fag wam S8 srafem s
Thd €2 9 R

-000-
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